

The Order of Starlikeness and Convexity of
Confluent Hypergeometric Functions

KHALIDA INAYAT NOOR

ABSTRACT

We determine the conditions for which confluent hypergeometric functions are convex and starlike of order α .

Key Words and Phrases: Confluent hypergeometric functions, convex, starlike of order α , convolution, linear operator, radius of convexity.
1980 Mathematics Classification (1985 Revision), 33A30, 30C45.

1. **INTRODUCTION**

Let A denote the class of analytic functions f in the unit disk $E = \{z: |z| < 1\}$ with $f(0) = 0$, $f'(0) = 1$. We denote by S the subclass of A consisting of univalent functions. A function $f \in S^*(\alpha)$, $0 < \alpha < 1$, if and only if $\operatorname{Re} \frac{zf'(z)}{f(z)} > \alpha$, $z \in E$. We call f a starlike function of order α in E . Also, a function $f \in S$, satisfying $\operatorname{Re} \left\{ \frac{(zf'(z))'}{f'(z)} \right\} > \alpha$, $0 < \alpha < 1$, $z \in E$, is called a convex function of order α and we denote the class consisting of such functions as $C(\alpha)$.

It is clear that

$$f \in C(\alpha) \text{ if, and only if, } zf' \in S^*(\alpha), \quad (1.1)$$

Let c be a complex numbers with $c \neq 0, -1, -2, \dots$, and consider the function defined by

$$\phi(a; c; z) = {}_1F_1(a; c; z) = 1 + \frac{a}{c} \frac{z}{1!} + \frac{a(a+1)}{c(c+1)} \frac{z^2}{2!} + \dots \quad (1.2)$$

This function is called Confluent (or Kummer) hypergeometric function and it is analytic in C . It satisfies Kummer's hypergeometric differential equation

$$zw''(z) + (c-z)w'(z) - aw(z) = 0 \quad (1.3)$$

If we let $(d)_k = \frac{\Gamma(d+k)}{\Gamma(d)}$
 $= d(d+1)\dots(d+k-1),$

and $(d)_0 = 1$, then (1.2) can be written as

$$\phi(a; c; z) = \sum_{k=0}^{\infty} \frac{(a)_k}{(c)_k} \frac{z^k}{k!} = \frac{\Gamma(c)}{\Gamma(a)} \sum_{k=0}^{\infty} \frac{\Gamma(a+k)}{\Gamma(c+k)} \frac{z^k}{k!} \quad (1.4)$$

It is well-known [1] that

$$c\phi'(a; c; z) = a\phi(a+1; c+1; z), \quad (1.5)$$

$$\phi(a; a; z) = e^z \quad (1.6)$$

Also, if $\operatorname{Re} c > \operatorname{Re} a > 0$, then

$$\phi(a; c; z) = \frac{\Gamma(c)}{\Gamma(a)\Gamma(c-a)} \int_0^1 t^{a-1} (1-t)^{c-a-1} e^{tz} dt = \int_0^1 e^{tz} d\mu(t), \quad (1.7)$$

where

$$\mu(t) = \frac{\Gamma(c)}{\Gamma(a)\Gamma(c-a)} t^{a-1} (1-t)^{c-a-1}$$

is a probability measure on $[0,1]$. In fact

$$\int_0^1 d\mu(t) = \frac{\Gamma(c)}{\Gamma(a)\Gamma(c-a)} \cdot B(a, c-a) = 1, \quad (1.8)$$

where B is the beta function.

2. MAIN RESULTS

We shall now determine conditions on a and c so that ϕ belongs to $C(\alpha)$ and $S^*(\alpha)$.

Theorem 2.1

Let a , c and α be real numbers with $a \neq 0$, $0 < \alpha < 1$ and satisfy $c > N(a, \alpha)$, where

$$N(a, \alpha) = \begin{cases} \frac{1-2\alpha^2+2\alpha+2|a|}{2(1-\alpha)}, & |\alpha a| > \frac{(1-\alpha)^2}{(3-2\alpha)} \\ \frac{4(1-\alpha)^2(1+\alpha)-\alpha^2}{2(3-2\alpha)(1-\alpha)} + \frac{(3-2\alpha)(\alpha a)^2}{2(1-\alpha)}, & |\alpha a| < \frac{(1-\alpha)^2}{(3-2\alpha)} \end{cases} \quad (2.1)$$

Then $\phi(a; c; z)$ is convex of order α in E .

To prove this, we follow the technique of Miller and Mocanu [2] and we need the following result which is a special case of Theorem 1 in [3].

Lemma 2.1

Let D be a set in the complex plane \mathbb{C} and let a function $H: \mathbb{C}^2 \times E \rightarrow \mathbb{C}$ satisfy the condition

$H(is; t; z) \notin D$ for $z \in E$ and for real s, t with $t < \frac{-(1+s^2)}{2}$. If p is analytic in E with $p(0) = 1$ and $H(p(z); zp'(z); z) \in E, z \in E$, then $\operatorname{Re} p(z) > 0$ in E .

Proof of Theorem 1

Let

$$\left(\frac{z\phi''(z)}{\phi'(z)} + 1\right) = (1-\alpha)p(z) + \alpha, \quad (2.2)$$

where $\phi'(z) = \phi'(a; c; z) \neq 0$, see [2]. Clearly the function $p(z)$ is analytic in E with $p(0) = 1$. Since ϕ satisfies the differential equation (1.3), we use (2.2) in (1.3) to have

$$\{zp'(z) + (1-\alpha)p^2(z) + (1-\alpha)(c-z+\alpha-2)p(z) - [(1-\alpha)c+z(a+\alpha) - (1-\alpha)^2]\} = 0 \quad (2.3)$$

Let

$$H(w_1; w_2; z) = w_2 + (1-\alpha)w_1^2 + (1-\alpha)(c-z+\alpha-2)w_1 - [(1-\alpha)c+z(a+\alpha) - (1-\alpha)^2]$$

and $D = \{0\}$, then (2.3) can be written as

$$H(p(z); zp'(z); z) \in D$$

We shall use Lemma 2.1 to prove that $\operatorname{Re} p(z) > 0$.

Let $z = x + iy$. Then

$$\begin{aligned} \operatorname{Re} H(is; t; z) &= t-(1-\alpha)s^2 + (1-\alpha)ys - (1-\alpha)(c-1+\alpha) - (\alpha+a)x \\ &< -\frac{(1+s^2)}{2} - \frac{2(1-\alpha)s^2}{2} + \frac{2(1-\alpha)ys-2(\alpha+a)x}{2} - \frac{2(1-\alpha)(c-1+\alpha)}{2} \\ &= -\frac{1}{2} [(3-2\alpha)s^2-2(1-\alpha)ys + 2(\alpha+a)x+2(1-\alpha)(c-1-\alpha)+1] \\ &\equiv Q(s) \end{aligned}$$

Now $Q(s) < 0$ for all real s and $x^2+y^2 < 1$. In fact the Discriminant Δ of $Q(s)$ is

$$\begin{aligned} \Delta &= (1-\alpha)^2y^2 - (3-2\alpha)[1+2(1-\alpha)(c-1-\alpha)+2(\alpha+a)x] \\ &< (1-\alpha)^2 - (3-2\alpha)[1+2(1-\alpha)(c-1-\alpha) + 2(\alpha+a)x] - (1-\alpha)^2x^2 \\ &\equiv h(x) \end{aligned}$$

If $|\alpha + a| < \frac{(1-\alpha)^2}{(3-2\alpha)}$, then

$$h'(x_0) = 0 \quad \text{for} \quad x_0 = \frac{-(3-2\alpha)(\alpha+a)}{(1-\alpha)^2}$$

and using (2.1), we have

$$h(x) < h(x_0) = (1-\alpha)^2 - (3-2\alpha)[1+2(1-\alpha)(c-1-\alpha)] + \frac{(3-2\alpha)^2(\alpha+a)^2}{(1-\alpha)^2} < 0 \quad \text{for} \quad -1 < x < 1.$$

If $|\alpha+a| > \frac{(1-\alpha)^2}{(3-2\alpha)}$, then $h(x)$ is monotone on $(-1,1)$ and again, from (2.1), we deduce that

$$h(x) < -(3-2\alpha)[1+2(1-\alpha)(c-1-\alpha)] + 2(2-3\alpha)(\alpha|a|) < 0$$

Hence, in both cases, $\Delta < 0$ for $x^2+y^2 < 1$. Also, from (2.1), we have $Q(0) < 0$ and therefore

$\operatorname{Re} H(is;t;z) < 0$, for $z \in E$ and all real s and t with $t < -\frac{(1+s^2)}{2}$. Hence, from Lemma 2.1, we have $\operatorname{Re} p(z) > 0$, $z \in E$. This proves that $\phi \in C(\alpha)$ for $z \in E$ and $c > N(a, \alpha)$, where $N(a, \alpha)$ is given by (2.1).

Theorem 2.2

Let $a \neq 1$ and $c > 1+N(a-1, \alpha)$, $0 < \alpha < 1$, where $N(a, \alpha)$ is as defined in (2.1). Then $z\phi(a;c;z) \in S^*(\alpha)$ for $z \in E$.

Proof: Its proof follows immediately from relations (1.1), (1.5) and Theorem 2.1.

Remark

For $\alpha=0$, we obtain the results proved in [2].

3. APPLICATIONS

To illustrate some of the applications of our main result, we need the following concepts.

Let $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ and $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$. Then the Hadamard product (also called the convolution) of f and g is defined as

$$f(z) * g(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n$$

It is known [4] that if $f \in C(\alpha)$, $0 < \alpha < 1$ and g is convex then $f * g \in C(\alpha)$.

Let μ_i , $0 \leq i \leq 5$ be the linear operators defined on A by the equations below.

$$\mu_0(f(z)) = zf'(z), \quad \mu_1(f(z)) = [f(z) + zf'(z)]/2$$

$$\mu_2(f(z)) = \int_0^z \frac{f(\xi)}{\xi} d\xi, \quad \mu_3(f(z)) = \frac{2}{z} \int_0^z f(\xi) d\xi,$$

$$\mu_4(f(z)) = \int_0^z \frac{f(\xi) - f(x\xi)}{\xi - x\xi} d\xi, \quad |x| < 1, \quad x \neq 1$$

$$\mu_5(f(z)) = \frac{1+\gamma}{z^\gamma} \int_0^z \xi^{\gamma-1} f(\xi) d\xi, \quad \operatorname{Re} \gamma > 0$$

Each of these operators can be written, (see [5]), as a convolution operator given by $\mu_i(f) = \psi_i * f$, $0 \leq i \leq 5$, where

$$\psi_0(z) = \sum_{n=1}^{\infty} nz^n = \frac{z}{(1-z)^2},$$

$$\psi_1(z) = \sum_{n=1}^{\infty} \frac{n+1}{2} z^n = \frac{z - \frac{z^2}{2}}{(1-z)^2},$$

$$\psi_2(z) = \sum_{n=1}^{\infty} \frac{1}{n} z^n = -\operatorname{Log}(1-z)$$

$$\psi_3(z) = \sum_{n=1}^{\infty} \frac{2}{n+1} z^n + \frac{-2[z + \log(1-z)]}{z}$$

$$\psi_4(z) = \sum_{n=1}^{\infty} \frac{1-x^n}{(1-x)^n} z^n = \frac{1}{1-x} \operatorname{Log} \left[\frac{1-xz}{1-z} \right], \quad |z|=1, \quad x \neq 1$$

$$\psi_5(z) = \sum_{n=1}^{\infty} \frac{1+\gamma}{n+\gamma} z^n, \quad \operatorname{Re} \gamma > 0$$

For a given subclass M of S , let $r_c[M]$ denote the minimum radius of convexity over all functions f in M . It is not difficult to find the radius of convexity of each of the functions ψ_i , $0 \leq i \leq 5$, that is

$$r_c(\psi_0) = 2 - \sqrt{3}, \quad r_c(\psi_1) = \frac{1}{2}$$

and

$$r_c(\psi_2) = r_c(\psi_3) = r_c(\psi_4) = r_c(\psi_5) = 1$$

These facts together with (Theorem 1.2) yield the following result as

a consequence.

Theorem 2.3

Let a, c and α be real numbers with $a \neq 0$, $0 < \alpha < 1$ and $c > N(a, \alpha)$ where $N(a, \alpha)$ is defined by (2.1). Then $\mu_i(\phi(z)) = \phi * \psi_i \in C(\alpha)$ up to $r_c(\psi_i)$ for each i , $0 < i < 5$. Here $\phi(z) = \phi(a; c; z)$.

It is known [6] that $f \in C(\alpha)$ implies that $f \in S^*(\beta)$ where

$$\beta(\alpha) = \begin{cases} \frac{2\alpha-1}{2(1-2^{1-2\alpha})}, & \alpha \neq \frac{1}{2} \\ \frac{1}{2 \log 2}, & \alpha = \frac{1}{2} \end{cases} \quad (2.4)$$

and it is a sharp result.

Using this and Theorem 1, we immediately have the following result.

Theorem 2.4

Let a, c and α be as defined in Theorem 2.1. Then $\phi(a; c; z) \in S^*(\beta)$ where β is given by (2.4).

REFERENCES

1. G. Sansone and J. Gerretsen, 'Lectures on the Theory of Functions of a complex variable', Vol. II, Wolters-Noordhoff Publishing, Groningen, The Netherlands, 1969.
2. S.S. Miller and P.T. Mocanu, 'Univalence of Gaussian and Confluent Hypergeometric Functions', Proc. Amer. Math. Soc. 110(1990), 333 - 342.
3. S.S. Miller and P.T. Mocanu, 'Differential subordinations and inequalities in the complex plane', J. Differential Equations, 67(1987).
4. H. Silverman and E. Silvia, 'Subclasses of starlike functions subordinate to convex functions', Can. J. Math. 37(1985), 48-61.
5. R.W. Barnard and C. Kellogg, 'Applications of convolution operators to problems in univalent function theory'. Michigan Math. J. 27(1980), 81-93.
6. T.H. MacGregor, 'A subordination for convex functions of order α ', J. London Math. Soc. 9(1975), 530 - 536.

Mathematics Department
 College of Science
 King Saud University
 P.O. Box 2455
 Riyadh 11451, Saudi Arabia

Received Jun. 10, 1992